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Topic:- General Hindi

1) g @1 fadv s 2:
1. 399

2. 99

3. T

4. T

Correct Answer :-

2) “HYg 3ATaT 3R 98 HT1” PT Y[ AT SHIT:
1. G A AT 3R I HeT|

2. TG 31T 3R Y gl

3. TG T 3R g = HeT|

4. HIg 3T 3R I Hel

Correct Answer :-

. TG 3T 3R I T

3) «3MM9 A g9 faan 1> &1 Yz a9 :
1. 3 gy fu|

2. gH g9 faa

3. g9 A ganfaan

4. g9 g9 faan
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Correct Answer :-

. MUY feu

4) 98 P19 A YT & o T 3ryar HIs Iy 3YaT IRPR A gIRT 3 IR drHe A
TN & e wWfeR &l 82

1. Y HTT|
2. TF M|
3. U U |

4, [STHYT

Correct Answer :-
o TSI
5) 9T - 919 fha g7 U & Siavid 31d §2
1. foRref g
2. A : FRdf
3. qafgardt g™
4. fRd® . e

Correct Answer :-

. 9% RIP

1. 30 A&

2. P H

3. 30 Sitad

4. 37U O Sftad

Correct Answer :-

. 3UA A&
7) fFEew srdfu o e:
1. +3Ta
2. f: + &q
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3.+ =
4. T +vd

Correct Answer :-

o ﬁf:—i—w

9) u&p &1 3 8:
1. 09, 3R

2. KT, U

3. U4, AR

4. 3R, geft

Correct Answer :-

. U, 3R

10) ‘U Hgl A UBIRId gl 82
1. MEXQR

2. TEAR
3. IHTR

4, PITYR

Correct Answer :-

11) S P14 Fara:
Rl 31t R T YR, SG WA A E |
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FABI AYR YA UG H, Sg e W@ 6
1. AA B3

2. BANIIDT B

3. Il B4

4, DT B4

Correct Answer :-

. giififdere<

12) B¢ BT -1 Farai:

o & 7§ et A et s A
AP AT PART H HH ORI 81|
[ UTAl | YIS HTT WRAT a1 |
THaY® ARG fergq ® St ST 8
1. AA B3

2. glIfifcrepT B

3. I B4

4, Tifde1 &5

Correct Answer :-

. Mde18<

14) %aw Cak: O] ﬁ%’?{ %:
1. A+
2. 371'+§'-‘2T
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3. Ga+3T
4, T+

Correct Answer :-

- QS

15) ‘%R P WY fa=da &
1.g8 + M

2. g+

3.¢9+ R

4. ¢+ @

Correct Answer :-

16) Rumige = ar_ AwEfREeid Rl
1. HETUId

2. JUUT

3. TTgyid

4, fa=rmerur=

Correct Answer :-

17) fFafafea iR A eI
BRI I A Sl §H AU AT ST M |
AT §HIR 81 3141 | U= 7Y e wRedtp 1
1. 3%

2. YA

3. Yfda |

4, HoUXY

Correct Answer :-

o 2UIRY
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18) fFafafea Wi d S ATva 32
TR ATeTd a1d 31, qRal oy gara|
Hig o, HigH 78, &7 Pg, Afe 4|

1. ARy

2. YR TH
3. A9
4, Higd g

Correct Answer :-

GET IT ON
Google Play

19) frafefad dfeaal & &1 a1 ot fagae 3:
91 U A9 ¥ Aeara
e IR Fiadt A A1 94 fyqra|

1. _q7d o7
2. 1Y 701
3. TTG T[0T
4. 3151 01

Correct Answer :-

20) faferfad dfeaal ® i a1 7T fagme 3:
fewfs: g 471 | ugeg e WRd |
TG YUT, IYSTdl qadl Pl |

1. AT o7
2. Udle 0T
3. qE IO
4. 31 U1

Correct Answer :-

21) fAgfafad ufeaal # fAfed sreierR Targ:
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3T AT UST SUR, HisT $4 Ia¥ UR|

0T A T §9 UR, 99 9P ddd 4T 39 UR| |
1. Jffa=mAfa SAdR

2. UPH AABR

3. IR SR

4, 3UHT 3AhR

Correct Answer :-

. SfaRraifad SrdeR

22) Fafafea dfewal d Afea sdeR garg:
3 ST Sreat ¥e, oreft Taa F @
338 B ua g, ST SRA S J@l|

1. JfA=EAHT SABR

2. Y DR

3. TUDH AADR
4. 3Afad PR

Correct Answer :-

. I PR

23) ATY - g1 fre g0 U & Siavld o 32
1. TR g

2. A : FRdi

3. qafgardt g™

4. fRd® - FRd®

Correct Answer :-

. fRIdt gy

24) AR R BT FT A B2
1. JRIT feag ofR gert

2. G 59 3R GO

3. JOFId G 3IR Ugell
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4. 5 3R G

Correct Answer :-

« I % SR gE

25) fagr & U& Uf ) I STAd © | 98} Pl “Uceid’ peardl 2l
1. 3% Ed § AR F IR A TF T TP &

2. §el 91 od § IR P IR ol Hidal gl

3. 9l dieT ofd & 3R &3 aR dl Ueb I Giab

4. 91 U Ed § 3R s IR dl U G G&ib ol

Correct Answer :-

. YTl 9 od § 9k P SR ol T I I ol

26) TN 3R I HT 34 §:
1. Y iR

2. I 3TR @ BT R

3. 99 AR g4l

4. TAara iR iy

Correct Answer :-

. G SR 3G BT RIM

27) T 5T T T IR UG 32
1. YgHHh XY

2. 3% 39

3. SHE

4. 3GHI

Correct Answer :-

o YT

28) WfH0r HId IHY o= 39 [
1. faRI9UT T 3FTaRTS TN 6 |
2. foRIvOT &7 3TaRT® YT 9 B |
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3. T3 BT SATTID YA 7 BN |

4. foaRyd® a1l &1 Ieaifad L

Correct Answer :-

« faRIwoll &7 SIS YA B |

29) Jf&aii®HRor Hd GHY &1 I foh:

1. JUHI THIA 311G SABRI DT YA =g D1 |
2. SUHAT EFId 3fS DRI BT TN Gd DY |
3. JUHT EFIA 3G STBRI BT TN 7 B |

4. IUHI TP TG SHTHRI DT TN DI |

Correct Answer :-

. JUHIEPIA 3M1fe 3reiepRI BT UAT T DI |
30) [P AR Yo 1 3 fora:

1. I 3R B

2. HR 3R qha

3. R 3R Tl

4. IR 3R Ahe

Correct Answer :-

. PR IRIWe

31) Rume &zt Stedan  Sard
1. fasqa

2. Tfere
3. fawma
4, Gpfard

Correct Answer :-

32) 3T IHIMAT YeTax 1 3 71 32
1. TR gEATI
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2. $S T T T 31
3. 319 IAH |

4, Jdh AT

Correct Answer :-

. S U U T I

33) ‘YATHE’ BT ARG [ |1 8?2
1. Yg I 3fea

2. Y 9 gad

3. YT ¥ 3fpd
4. 49 ¥ Wi

Correct Answer :-

. WA 3P

34) RIS A 1 g1 A1, W Il & 3id | Dg URad- g1 A1gT U7 | & 3id §
3RTA 3P D AT g1 AIfeT

1. 313 T 313 ¥ 3Hi¥h

2. B Y HY
3.9: UTS: 9 3fdd

4. T T 9Td 3113 3¢

Correct Answer :-

. 313 1313 Y 31w

35) UTRYTIY® 2sg TOPIC BT HT 3 32
1. fagg

2. YT

3. UTadohY

4. Ulé

Correct Answer :-
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36) UTRHT® WeG APPLICATION &7 T 3 82
1. fag

2. IRy
3. TdTded
4, 3de

Correct Answer :-

38) ‘HHUI TH’ BT WIT U T §?
1. 31y

2. M

3. fagm

4, HEU

Correct Answer :-

39) ugmrﬁ@#%ﬁmawaﬂ BT 3TaRge ¢ | a1 U1 & 98 yw fafga ueh &
JAF R

1. HearRid

2. SR

3. graRT o

4, difdhp

Correct Answer :-
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40) P BT AT g B:
1. =

2. UG

3. PP

4. P

Correct Answer :-

41) <3G FeT YeTax T 1 34y 32
1. ST

2. ST AT

3. &g ST

4, BT 37

Correct Answer :-

« QIR 3

42) IEca IRA § 1o MU S oD ¢ |
1. Teq TfekT

2.9¢

3. 707
4.39

Correct Answer :-

43) Tt B HreH MoR famsit| #1 Y a1 8-
1. TR PIeah Gt oI faarsit

2. G DI e MR Raean

3. Faash 9t &1 Hredhr MR

4. Rean gt &1 MR BIcH
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Correct Answer :-

. TSR BIcH i o faarsh

44) Ty 9T ) Wd 91  dear:

Ty g8 vt 99 Tt fibe +ft STt sgagR Agagui g 1°
1. a8 T & T fohR o ShT agR Hagul g |

2. HE § ST WR i ST HAER AU 8|

3. Siafoh a8 Tl & 1 R 2t ShT sqaeR THaTguf B
4. 9 98 T T 71 GUIY IHT AR THAYUI 5 |

Correct Answer :-

o T §F SH WR i 3P TR THAYUi 3|
45) @t ygtaaT! 8:

1. 77

2. BIIS

3. IR

4. 9%

Correct Answer :-

46) ‘ST Yeg T UGG §:
1. IR
2. IR

3. faik
4, gikar

Correct Answer :-

47) R Y@ Py fPa I PTIR?
1. AT

2. %Y
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3. YA
4. IR

Correct Answer :-

48) XA T B Ty aTeRs W Iear:

gRyw Fe- W aRfRAf ot srgea 8 it 21

1. TR e IR aRFRUF ot uferea €1 oirelt 21

2. TR R IR ORI ot 37t & oirelt B 1

3. Sa uRed famam ST § o afveufer o ufdea 8 ot 81
4. o1& Ufem foman ST § a9 uRfRUf of srgea &) ot 31

Correct Answer :-

. o9 uiyH forar Sran § a9 uRfRufa ot sga g ot B
49) WRE T B Ty a1 W Fear:

TG A G U AT T D Tl

1. ¥ 7 G &gl i § 39 W1y =)

2. X1 G 1Y I B! DTl

3. W1 G FE TS 9 TG

4, @1 G U 1Y I B BTl

Correct Answer :-

. @ G T 6 & 39 Y A’

50) TR ATHT B Wgad aTed A geal:
Tl 1§ B AR U T I’

1. <1 1 Sl GreT a8 T U S’

2. O B ST GIeT o g1 TR U S
3. TGI8 HR AR U ST1°

4, T GrST 3R TR U ST

Correct Answer :-

. T SIST R T U T
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51) fora W orrg frar man 8t
1. 3FRIfed

2. e

3. 3TeId

4. 3JIREIA

Correct Answer :-

52) G B WIS dicil A FT Hgd &2
1. S8l
2. Tl
3. T8l
4. 981

Correct Answer :-

53) fRPHd & Tl Il § T FEd &2
1. 8177 XA o1 fefemn

2. BT &9 dTell

3. WIfaRGR!

4, I

Correct Answer :-

54) HETed HT ATHTRIS fAUe |12
1. HgTad

2. @

3. Uiy

4, g g Sl ad

Correct Answer :-
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55) <faer @1 3 @:

1. 99, IRR § o g, et

2. faeea, TR & e fug, wamen
3. faare, TR & war fug, dian
4, faeg=, TR & Fran fug, dver

Correct Answer :-
. T, SRR H oran fug, dieT
56) LT 3R U1 BT 314 §:
1. TS ST 3R e
2. AT 3R R
3. e SR ferme
4, FORIT SiR aiteT A

Correct Answer :-

o AT 3R ORI

57) Yo w1 & gfd

P FAAT I Al
1. G &

RCCLE|

3. g WA

4, ool g P13

Correct Answer :-

58) f¥ad v @1 gfe H:
ATSTH A PRI SHR A Rk , BT O 731
1. BTSN 719 Id &

2. BTSN OIS TIed §
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3. BTSN OIS 96d &

4. HIToN STgTol 384 &

Correct Answer :-

. BSOS ASd &

59) o wE & gfd w1

FaFar et S EE, 9 wae) 9 srawR SR sheT-gea AT R
1. TP 3@ YT

2. Uh 9 o< ST

3. 3Rt H R &

4. TH A1 Y qaD! glep-

Correct Answer :-

« TP A3 A GID] gl

60) T & YA HA arar glar gl
1. Qfer 7qom

2. T o7
3. 3fIS U1

4. TS, T[T

Correct Answer :-

61) S e D! A A Ue 3R - R 10 yzq #1 I« &

TG $T BRI & UG & Ufd 3SR 81 I+ 7 had WHadl & fIE T 8, a3 iR
1t B 1 axga: Turd 97 9€t @ S U BT 3SR BT ST 8, BT Wbl ¢ | Had ST [
DI A7 IS & YAl GRS; I8 YOI HT a1 g¥ I6T, & &1 f = 481 g1 aifew | 7rea o
YT I & 91 g f A9 8, e 31 949§ =181

Uy I o1 faey 2 ferf@u
1. 3OHT

2. UHIH
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3. QYA
4. STHTT

Correct Answer :-

62) 3 TR B U I U 3R 12 feu T =z H13®R &

TG 1 PRI g1 AT & Uld 3SR 81 34T 1 Had HHadl & ¢ =l 7, a3 Srgfa
W 21 aega: gurd A7y 9} & S AT BT STeX BT ST 8, B bl ¢ | Pad SAIe [P

B AW gfSd € 3ryar Sis; a8 gun &1 al gr TeT, SU&1 &1 4 s 78 g =i | e at
YT JHTE P 91Y g {6 A9 8, WIa & 9a9§ T 8l

u: gATf A f5d weT T 82

1. JYTY A 3 BT 71 § S HHadl BT STeR HRAT ST ¢ |

2. JUTY AT I e 7T § S HHGdT BT 3G PHRAT S B |
3. gUTY AT I T 7T © S ST T 3MTeR BT Sl g |
4. TR AT I BT 7T & Sff ATl BT 3MTeR BT ST g |

Correct Answer :-

- U AT I T TN § S WG BT SMER HA AT g |

63) 3 TR B! S I U 3R 12 f3u T8 Uz 13« &

TG 1 PRI g1 AT & Ufd 3SR 81 33T 1 Had HHadl & ¢ =i 7, a3 Sgfa
Wt 31 avga: gyt a7 98t @ S HiHadT BT 31ER HIAT Al 8, Y Ghdl o | Had saro fb

B AW gfadH € ryar SRs; a8 gun &1 dl gr TeT, SU& &1 4 urr 78 S =l e |t
YT JHTE & 91Y g {5 A9 8, WIa & 9a9g =1 8l

WY: U9 I I & a9 82

1. AFd YT & I1Y § a4ifch 98 3HHd § SR 39R &1 a9y Hfd ]
2. HIa T & U9 § Filfch 98 W14 & 3R SR ST G998 Pia &

3. A4 G & I1Y g Rl 98 A & 3R I4R BI MPId 5

4. TG G & A1 Tg] ¢ R g MG § 3R IR Bt Ga9T Pid 5

Correct Answer :-

. TFd G & TR § 1{dh 98 T4 8 IR 3R Pt 98 Hid 3|
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64) 39 TR &) A ¥ U¢ 3R 1 g M0y 13w &:

U9 BT BRI §1 AT & Ufd 3SR 81 SS-T 7 Had AT & T AsIo-® 8, a3 igfud
W B | axga: gurd agw 98} 8 S AIHadr BT TeR HRAT JAFdT 8, BR Thdl 8 | Had s b
®15 A7 SIS 8 341 SRe; a8 YU o1 o gR 8T, SU&T 1 i i 81 gl wnfee | wa
Zfere W & Oy ¢ fop AT 8, WiTaTH &t 949y AT |

U ST TR BT AR R -

1. AMA $9R B 3UH Hid 8| I <8l Ydb FGeH SR TRIS BT T 3R gl ST AT aqT
ERISPUIEHERSIEIHY

2. HT4 3%R D1 3UH Hid g1 I 3Rl Y gfaaiH 3R TRia &1 I 3R Terad] HRA1 A1feT
qT fadt I gur =18 -t A1ig U

3. AMd 3R P 30 Hid 81 Y IR 0P gfga i AR TRIEl &1 T iR TeTadl &A1 a1l
a1 feft 9 gun =7g Bl =gl

4, AMA SR B 09 Hid ¢ | 3 IR T4P Gao 3R HRI 6T THM 3R TgHIdl H1 1T
YT fordt J o 781 1 =gyl

Correct Answer :-

. WA R B 3IUH Fd 81 IV IGRAI Ydd gfaad 3R TS BT M 3R Feradl HRA1 AT
YT bt & gur 781 Bl =g

65) 9 el D! SO A U¢ 3N - faT 70 yzq #1 I« &

TG $T PR g1 UG & YA 3SR 81 IS 7 Had HHadl & [T T §, TR

Wi B | axga: gurd agwr 98} 8 S ATHadr $7 MTex HRAT FAFT 8, BR DT 8 | Had AT b
DIS AT g 8 YT GRs; I8 YUIT &1 df g3 38T, JUe &1 ot urx =18 g1 =ifge | o af
SHIE T & 9h 3 {5 a1 §, W 3t 949y T 8l

"y SWad e #1 3 e &)
1. HTET
2. AHG
3. TGl

4, HIA4IdI

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

66) 3 U B AT 4 U 3R - 3w 10 yzq H13«R ¢

o e s g @,
g o fasymH = g
wfig oref & fbr aaan @,
YR H A-Siig--Haa |
g U e g, form.
YH A PTaR g TGTHR |
R T YRV AT R,
PHAT-FUl I TETP|

TY: 9 | FHTaR B gidT 82
1. BT 91 I BIR g1 G|

2. AR 4 ¥ PAR B 2|
3. AT 4 A PIR ST 8|
4. 9 A Y IR BT 2|

Correct Answer :-

. Ufed 4 A HIR BT |

67) 3 UL B A 9 TS 3T i fau 71w g9 &1 I« <

g @rma s gg @,
g U fasm wa g
Sia el & f T &,
YR $HX T-Sig--Had |
9 I BTaR SH1d TG
53 T YRUI BRaT B,
PHAT-FUl I TETHR|

Y: HfI A g BT WA f$T UHR H1 B! $3T 82
1. Bfd = G BT WA HI P DI PRI G|
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2. B A TG BT WHTd I W B Bl BT 5|
3. B3 Y Jg BT W AR & B I pel 2
4. B 7 Yo BT WA ST A B B T 8 |

Correct Answer :-

. B GG HT WA Ffaar § HA S FeT g

68) T UL B A U U< 3R i fauw 71w y=q &1 IR <

o wra s g @,
g U fasm wa g
i el & frx T 2,
YRV $HX T-Siig--Haa |
g U Tfvar g, forad,
9 I BTaR SH1d TG
B3 T YRUI BRaT B,
PHAT-FUI I TETHR|

uY: HfI A g T Iiar g, 7N Fe13?

1. 7 7S & A FRAOR T & SR 39 o $Ut 781 & 781 - SiiaTedT 77 IRR YR HRell 5|
2. T e & JrAM FRAR T 8 3R 39 Jog ST Tard | 81 R ofialeT a7 IR URT el 8 |
3. g A & A FRaR A § 91R 39 Jog SUT et H 78T IR SiiaTeT 197 IRR R0 et 8|
4. J ATETE o T FARAR Tfad= § 3R 39 gg Ut ) & 8T o Sfiared a1 IRR R0 e g |

Correct Answer :-

« G TS & THH ARG THH 8 3R 39 g vUt Tt H 78T $HR ShiaredT 731 TRR YR et g |

69) T UT B! A 4 U¢ 3R i< fauw v y=zq &1 IR <

e @ s gy @,
T U Ay i@ g1
Sfia wieT @ fhr aaan g,

HYRUT HR Ad-Sig-Adde |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

Y A PTaR Sliq TR
PR T YURUT HRaT B,
PHA-FU 9 TgTH|

TY: BTAI-EYUI 9 | (5 AGPR BT UINT §2
1. Y 3ABR
2. TUD AADR
3. TPIA 3P R
4. IUHT 3APR

Correct Answer :-

o TOD DR

70) 3 UY P! A A U¢ 3 - fAE T8 g9 #13I«R <

o wra s g @,
g U Ao i@ 3|
Sia el & i T 2,
YRUT B Ad-Siiq-Had |
g U afvar g, forad,
9 3 BTaR SH1d gD
R T URUT PR R,
PHAT-FUl I TTH|

UY: Yo B! Ay we Tl H7T T |2

1. TP T Sigaft BT IR FThaR A% Hdl § 3R IRR T8 seaar 3|
2. T Tl Sigafl HT IR Th R A4 HaT § 3R IRR deadr Wl g
3. b T&T A BT IR FTh DR AU BT § 3R IR T adT I8 8

4. TSP TET IS &1 TR TAd §U IRR FeardT el 3|

Correct Answer :-

. Fife T8T AT HT IR THH fAYH Hd1 g 3R IR IEadl | |
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Topic:- General English

1) Choose the appropriate preposition for the given sentence:

The model you ask is out of production.

1. to
2. at
3. with

4, for

Correct Answer :-

o for

2) Choose the appropriate preposition for the given sentence:

These brands are well known ______ you.
1. for

2. with

3.in

4. to

Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

We can offer you these goods ___ market price.
1. to

2. below

3. on

4. in

Correct Answer :-

¢ below

4) Choose the appropriate prepositions for the given sentence:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

The city will take a long time torecover ____ the damage caused the earthquake.
1. since, through

2. from, by

3. with, during

4. against, into

Correct Answer :-

5) Choose the appropriate articles for the given sentence:

The jury will hold _____ emergency meeting half hour before announcing its decision.
1. an, an

2.3,a

3.an,a

4. a, an

Correct Answer :-

6) Choose the appropriate articles for the given sentence:

diploma in Computer Science from ______ university in India is recognised globally.
1. A an
2. An, an
3.Aa

4. The, the

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

importance of having backup of all data in your computer cannot be minimized.
1. A an

2. A a
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3. An, a

4. The, a

Correct Answer :-
e The, a

8) Choose the option that best transforms the given sentence as directed:

My father is speaking to the man. His shop was burgled.

1. My father is speaking that man who had his shop burgled.
2. My father is speaking to the man and his shop was burgled.
3. My father is speaking to the man whose shop was burgled.

4, Speaking to the man is my father whose shop was burgled.

Correct Answer :-
* My father is speaking to the man whose shop was burgled.

9) Choose the correct form of verb for the given sentence:

You look very pale,areyou _____?
1. well

2. suffer

3. sick

4.ill

Correct Answer :-
o ll

10) Choose the correct form of modal auxiliary verb for the given sentence:

| have to work hard. | ______ pass this time.
1. might

2. can

3. could

4. must

Correct Answer :-
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11) Choose the correct form of adverb for the given sentence:

The photograph ___ brought back old memories.
1. lethargically

2. bluntly

3. instantly

4, lazily

Correct Answer :-
e instantly

12) Choose the correct form of adverb for the given sentence:

They visit their parents quite
1. frequency

2. innocently

3. regularly

4, sincerely

Correct Answer :-

e regularly

13) Choose the correct form of adjective for the given sentence:

Heis a member of the team. He is willing to give his time and energy to anything he undertakes
to do.

1. compassionate
2. callous
3. committed

4. insincere

Correct Answer :-

e committed
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Choose the correct form of expression to complete the sentence:

She caughta _____ of the thief as he made his getaway.
1. glance

2. flash

3. sight

4, glimpse

Correct Answer :-

o glimpse

15) Choose the correct form of expression to complete the sentence:

Work at least six hours a day, or you cannot be sure of
1. fame

2. independence

3. popularity

4. success

Correct Answer :-

* success

16) Choose the correct form of tense for the given sentence:

| with my father last night.
1. talk

2. spoke

3. speak

4. have talked

Correct Answer :-

17) Choose the correct form of tense for the given sentence:

Every Saturday the class on the tenth floor.

1. meets
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2. will meets
3. meet

4. met

Correct Answer :-

e meets

18) Choose the correct form of tense for the given sentence:

| promise thatl ______ to work on time every morning in the future.
1. am getting

2. will get

3. get

4, would get

Correct Answer :-

o will get

19) Choose the correct form of tense for the given sentence:

Whenever | him, he makes rude remarks about me.
1. see

2. have seen

3. am seeing

4, saw

Correct Answer :-

20) Choose the most suitable determiner for the given sentence:

The old manhad _______ heart attack this morning.
1. another

2. some

3. more

4. much
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Correct Answer :-
e another

21) Choose the most suitable determiner for the given sentence:

Therewas ____ food to feed an army.
1. most
2. more
3. much

4. enough

Correct Answer :-

e enough

22) Choose the appropriate articles for the given sentence:

presentation you sent me yesterday is useless one; it has no value for either me or

anyone.

1. A an
2. The, a
3. The, an

4. The, the

Correct Answer :-

23) CANCELLED

Choose the correct form of adverb for the given sentence:

With sneakers on, the nurse could move more ____ among the patients.
1. quickly

2. carefully

3. slowly

4. correctly

Correct Answer :-

e quickly
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24) CANCELLED

Choose the correct form of adjective for the given sentence:

Knowing no better, he used very ___ language.
1. inappropriate

2. spontaneous

3. accurate

4, correct

Correct Answer :-
e inappropriate

25) Choose the correct form of verb for the given sentence:

I my friend to lend me his caravan for my trip to the country.
1. counseled
2. suggested
3. persuaded

4. proposed

Correct Answer :-

e persuaded

26) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool's joke.
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On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That’'s because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: According to the passage, what is the greatest difference of this latest game?
1. It is primarily aimed at children and adults who played the game earlier.

2. All of the above.

3. The games are imaginary and conducted within the confines of a room.

4. It forces players to get off their chairs and venture outside.

Correct Answer :-

« It forces players to get off their chairs and venture outside.

27) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household nhame came from an April Fool’s joke.

On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
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million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That’'s because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parlor.

Question: Which of the statements is TRUE according to the passage?

1. On April 1, 2014, Ingress became the first mobile app.

2. Anyone wandering around your neighbourhood might have lost his or her way.
3. Pokémon first began in 1995 as a Nintendo video game.

4. San Francisco-based startup Niantic Labs was Google’s first working lab.

Correct Answer :-

» Pokémon first began in 1995 as a Nintendo video game.

28) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool's joke.

On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.
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Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That's because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parior.

Question: What is the passage all about?
1. Pokémon Masters

2. Pokémon Go

3. Pokémon gamers

4. Pokéstops

Correct Answer :-

e Pokémon Go

29) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool’s joke.

On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That's because the game uses the phone’s GPS and
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camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parior.

Question: The game is played using which of the following elements?
1. Camera only

2. All of the above

3. Google Maps only

4. Mobile’s GPS only

Correct Answer :-

e All of the above

30) Read the passage carefully and answer the question given below:

A few weeks ago, if you saw someone wandering around your neighborhood staring at their
phone, you might have assumed they were lost. Now, it would not be too much of a stretch to
think that they are busy locating, capturing, battling or training fictional creatures called
Pokémon. Welcome to Pokémon Go, the free-to-play location-based augmented reality game
that has taken the world by storm since its release on July 6, 2017. For those that are unfamiliar
with the Pokémon brand and wondering what the latest hoopla is all about, here is a brief
rundown.

Pokémon first emerged in 1995 as a Nintendo video game. Through the decades, it has grown
into a massive franchise, which includes trading card games, animated movies and television
shows, toys, and comics. While popular, it was primarily aimed at children and nostalgic adults
who played the game when they were young. Ironically, the idea of creating the augmented
reality game that has made Pokémon a household name came from an April Fool's joke.

On April 1, 2014, Google Inc. announced “"Pokémon Masters,” an app that would allow people to
hunt the monsters using Google Maps. Though just a prank, the ensuing enthusiasm caught the
attention of San Francisco-based startup Niantic Labs and its founder, John Hanke. The team,
whose first augmented reality mobile app game, Ingress, has been downloaded more than 12
million times, decided to turn Google’s prank into a reality by partnering with Nintendo to create
Pokémon Go.

Similar to previous Pokémon games, players travel the world to capture and battle the monsters
in their quest to become the greatest Pokémon trainers. However, while the trips in the previous
games were imaginary and conducted within the confines of a room, Pokémon Go forces players
to get off their chairs and venture outside. That's because the game uses the phone’s GPS and
camera to help players “find” Pokemon in the real world, as well as discover various landmarks
or Pokéstops, which offer items and experience points. This could mean finding a Rattata in your
backyard, a Pidgey around the block, or a Pokéstop at your favorite neighborhood ice cream
parior.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Question: The underlined word ‘ironically’ in Paragraph 2 of the passage means:
1. Honestly

2. Sadly

3. Undoubtedly

4. Sarcastically

Correct Answer :-
 Sarcastically

Topic:- General Knowledge

1) A scores more runs than B but less than C. D scores more than B but less
than A. Who is the lowest scorer?/ A 3 B ¥ 3(f&® 31 90 TR C A FAIA TR D
A B ¥ 34t ¥ 7910 IReg A I FH I T - | {5+ T99 $9 3 a1

1.D
2.B
3.C

4. A

Correct Answer :-

- B

2) Find the missing character./ ﬁ'ﬁqﬁmﬂﬁl

1. F
2.L
3.G
4.H

Correct Answer :-
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3) 1f you are 9tM person in a queue starting from one end and 11" from
another end, what is the number of persons in the queue?/ tri%arrqmwﬁ'w
BR A 14 Aaf § TAT g BR A 113 VM R g, FaR T Aafaaal it Jew frat 82

1.19
2.21
3.20
4,18

Correct Answer :-

4) In the following question, select the related letter/word/number from the

%ggn alternatives./ fAAfaRad v ¥ feu v fawedl A I =T sieR/res/<E &t
|

Lid : Box:: Cork:?/ o ; fesa1 :: pih:?
1. Brittle/ YR
2. Soft/ dgH
3. Bottle/ Slda

4, Light/ U®IRI

Correct Answer :-

« Bottle/ EIG[]

5) In the following question, select the related letter/word/number from the

%g;n alternatives./ fAAfefad yw & fou e faeedl A A Tl sier/r< /e &1
|

5:124::7:?
1. 342
2. 343
3. 248

4,125

Correct Answer :-

. 342
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6) In the given figure, the triangle represents people who visited Mysore,
the circle represents people who visited Ooty, the square represents people
who visited Munnar. The portion which represents people who visited both
Mysore and Ooty is/f3UT T 3 #, fys 31 & &) gifar 8 forsia A9z &1 & fab,
gl 3 AN 1 g=fan 3 gAY Sdt &1 ERT fpan, vt 39 @i 1 q=ifar 8 oA gaR w1 vt
far | Y & 37 afdral &1 g=ifar § S AR 9UT S} GH) BT GRT Ha 82

1.D
2.B
3.G

4.C

Correct Answer :-
e« C

7) DIRECTIONS: Solve the alphanumeric series given below:/ fd=r: F=I & g
JERTPIY e A0l Bl e B:

2, C4E, E6I, G8O, 110U

1. B2E

2. B2A

3. A2E

4. A2A

Correct Answer :-

« A2A

%
Vs
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N
ool =1 | LA

LA s

4.

Correct Answer :-

9) Which of the following interchange of signs or numbers would make the

given equation correct?/ fA= A & #-3 forvg a1 T & srgan-aga! H31 R fear
AT HIHRUT At gRI?

(18 £ 9) +3 x 5 =45
1. + and +/+ 3R +

2.3 and 9/3 3R 9

3.18 and 5/18 3R 5

4. x and +/x IR =+
Correct Answer :-

. +and+/+3ﬁT+

10) Which figure represents the exact relationship with the variables given

in questions? /i1 3Tpfa uy # AT T sraual & ¥y fAif¥a Jey o1 g=iidl 82

*QQ e
Hard bed, Sofa, Furniture/ gTS 98, IdIbI, BAER

1.D

(A)

2.B
3.C

4. A
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Correct Answer :-
« D
11) 600 x 3250 =+ 10000 =7

1. 165
2. 180
3.195

4. 175

Correct Answer :-

« 195

12) With which of the following is the MPTRIFAC related to? / A.Y. b 4
H 3 fraa awfta g2

1. Transportation / gRagH
2. Infrastructure Development / §HATEI ld &1 fasw™
3. Investment Facilitation / f4d=1 &1 gfaen

4. Education / fRrem

Correct Answer :-

« Investment Facilitation / fa=1 &1 gfaer

13) In 1998, how many districts were carved out of Madhya Pradesh’s large

districts?/ 1998 ¥ Ay U= & s foral ® A fora= fora o1 fmtor gam ur?
1.15
2.16
3.18

4.17

Correct Answer :-

14) If one third of the fourth of a number is 15, then three tenth of the

number is:/afe fHel T & TP fIBTS BT TH TUTE 15 B, o IH J=AT BT 3/10 FIT RM?
1.36
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2. 35
3.45

4. 54

Correct Answer :-

15) The Union Ministry of Health and Family Welfare has recently launched
the phase of the measles-rubella vaccination campaign./ HY Wy

3R IRAR HeTT HATHT T BT & A GRS A APHR SRATF RO P
JURY fFar g1

1. Third/dERT
2. Second/gdRT
3. First/dgdll

4. Fourth/=T

Correct Answer :-

« Second/giX]

16) Shyam'’s present age is 3 times as his son. After 10 years, the sum of
their ages will be 76 years. Then the present age of Shyam is:/ MH CARCRIE
3TY, 39 T A < A1 8 110 T8 1€, 37! 3T BT AN 76 T g1 S| IATH Bt adHT 3T &

1. 42 years/42 CL
2. 45 years/45 a§
3. 39 years/39 @§

4. 47 years/47 CL

Correct Answer :-

« 42 years/42 ¥

17) A can complete a piece of work in 6 days while B can complete the same
work in 12 days. If they work together and complete it then, the portion of
the work done by A is:/A U® &TH B 6 fe-l § @ Ha1 8, Jafe B I 8 w112 faA
o HedT g 131 SN TIY HTH HIP HTH TH B34 8, a A 7 fam i & feare

1

b | =
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i b

Wil =

4.

Correct Answer :-

18) 18% of which number is equal to 12% of 75? /{5 T BT 18%,75F 12%
& TRIER B2

1.2
2. 50

3.100

3
4.2

Correct Answer :-

19) Narmadapuram was the earlier name of the district of - / qﬁzmmﬁﬁ
DT YYH ATH YT?

1. Shajapur/ RISITYR
2. Balaghat/ dTdIdIC
3. Hoshangabad/ BIRITETG
4, Singrauli/w

Correct Answer :-

« Hoshangabad/ BRITETG

20) The LCM of two numbers is 1920 and their HCF is 16. If one of the
numbers is 128, find the other number./ﬁﬁ'@TSﬁﬁTﬁ.ﬂ.wzo%HQJT'FHT.M %I ‘qﬁ
TP TEAT 128 &, Al G-I V=T J1d B |

1. 320
2. 260
3. 240

4.204
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Correct Answer :-

e 240

21) Two partners X and Y start a business by investing Rs.50,000 and
Rs.40,000 respectively. What will be the ratio of their profits at the end of
the year?/X 3R Y 7 UT& SATUR & HUM: Rs.50,000 TUT Rs.40,000 B Gofl o= &5t af &
3 o 3¢ 5 srgura & @y farawm?

1.1:4
2.1:2
3.5:4

4,2:5

Correct Answer :-

e« 5:4

22) The Basdeva singers always wear yellow and carry an idol of on
their%head./a\q%mwsﬁvnﬁﬁW$awuﬁ%%aﬁ?mmw ot gfd
IGd gl

1. Lord Shiva/ H¥1a 19
2. Lord Ram/ HIdH IH
3. Lord Krishna/ HIdlH ]

4. Lord Brahma/ HITdI- d&ll

Correct Answer :-
« Lord Krishna/ HTdTq W[

23) Where is the Nilkanth Shrine and Nilkanth Mahal situated?/ Fla& s HfeR
3R e s Aga pei fRIT 2

1. Panchmarhi/lﬁlﬂ'@ﬁ
2. Mandu/ HTg

3. Khajuraho/ GSRT8!
4. Orchha/ 3{RST

Correct Answer :-

« Mandu/ Hig
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24) A and B can separately do a piece of work in 9 days and 18 days
respectively. How long will they together take to do the work?/ A dYT B 3{cliT

3T Pt BTH B HAT: 9 YT 18 f& & HY Tpa 8, 1 Q) fraed 39+ 1 &) foaq e &
P IPd 22

1.9 days/ 9 feA
2. 18 days/18 fad
3.10 days/10 faq
4.6 days/6 fam1

Correct Answer :-

« 6 days/6 faa

25) If the length and breadth of a rectangle are in the ratio of 3:2 and its

perimeter is 20 cm, then the area of the rectangle (in cm?2) is:/f&=dt smaa ot
TSI YT ST BT SIUTd 3 : 2 8 U7 URUTT 20 T 3 | MU BT B [Td B |

1. 24 cm?/24 942
2. 36 cm?/36 TH2
3. 12 cm?/12 9?2
4, 48 cm?/48 2
Correct Answer :-
+ 24 cm?/24 94?2

26) If the circum-centre of a triangle lies outside it, then the triangle is:/afe

AABC &1 9Td &% RIYST & I8 8, a9 Y= &:
1. Obtuse angled/ 3if¥& ®iur

2. Acute angled/ I ®IUI

3. Right angled/?ITITﬁUT

4. Equilateral / JHdTg

Correct Answer :-

« Obtuse angled/ 313 ®Hiur

27) Who was the first to use gunpowder in India?/ YRT H JdUYH R¢ T SUANT
PR 91al SfaT B A?

1. Allauddin Khilji/ 3fearag - Raersit
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2. Nawab Siraj-ud-Daullah/ aTe RRTS I-dleig
3. Sher Shah Suri/ R B T

4, Babur/ dld}

Correct Answer :-

« Babur/ dldR

28) The Madhav National Park was previously the hunting reserve of the

Maharaja of — / ATYd I(ETA ST UG $&I b HGRTSI HT RIGR MRE &= 41?
1. Indore/'&‘?ﬁT

2. Gwalior/ﬁTf%RN

3. Jhansi/%lﬁ

4. Maheshwar/ Hg%R

Correct Answer :-

« Gwalior/ WIferR

29) A bus moving at a speed of 45 kmph overtakes a truck 150 meters ahead
going in the same direction in 30 seconds. The speed of the truck is:/ 45 f&HY/

HeT 3t 1fd 9 Iad §4 U 99, W4 ¥ 150 HieX 3 9138 TP B UR B H 30 GHUS BT 0
At 81 T & Ifd Iad |

1. 24 kmph/24 fodl et
2. 28 kmph/28 faHl ger
3.27 kmph/27 foHl/ gieT

4. 25 kmph/25 fodl/ der

Correct Answer :-

« 27 kmph/27 {4l get

30) When was the Kalidas Academy set up?/ STAIGRT HPHIGH! Bt WITYAT Fd g5 A2
1. 1979

2.1977

3.1980

4.1978

Correct Answer :-
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31) When was the NITI Aayog formed?/ ﬁrﬁre—rr!ﬂﬂmna—-rwg&n Yr?
1. 2016
2.2014
3.2015
4.2013

Correct Answer :-

32) What sum of money will amount to Rs.520 in 5 years and to Rs.568 in 7
years at simple interest? /&I It 4= I JTYRUT TS A 5 T A 520 T 3% 7 quf A
568 ¥UY gl SATEN?

1. Rs.510
2. Rs.400
3. Rs.220

4. Rs.120

Correct Answer :-
¢ Rs.400

33) What is amount of the first loan agreement that India has signed with
the NDB for the development and upgradation of the district roads in

Madhya Pradesh?/ A0 WX A fore Gso| & faer o I7a9 & forg vadidt & 91y HRd
A frait T & fore ugd Bur THEia W ewaner fHu g2

1. $350 million/ 350 fferd STeR
2. $250 million /250 fAfera STeR
3. $300 million/300 fAferRH SlerR
4. $400 million/ 400 fAfeRA SleR

Correct Answer :-

« $350 million/ 350 faferaT SfeRk

34) What is the capital of Netherlands?/ Fcids $1 IS T 82
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1. Amsterdam/Q‘FEéIr
2. Vienna/ﬁQ:H

3. Warsaw/ ardt

4. Canberra/ &eRT

Correct Answer :-

. Amsterdam/@:{?éﬂ

35) Two persons enter into a railway compartment in which 5 seats are
vacant. In how many different ways can they sit?/ﬁﬂﬁ'ﬁq@ﬁ%%@ﬁw
2, forad 5 die el 81 9a1sd @ fvam - A R 9 98 94 32

1. 20
2.6
3.12

4. 36

Correct Answer :-

« 20
1 1
36)  y= 1 1 X = i 1
2+§ —=7 2+2 - =?

If thenx* /3fe g, arx
1
1.2
3
2,2
5
3.2
2
4,3

Correct Answer :-

37) The Nadisukta hymn is in the - /TERIFT Y- HIH- A dg A 82

1. Sam Veda/WaE
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2. Rig Veda/ B dg

3. Yajur Veda/ EITrﬁT:{

4, Atharva Veda/ G{%I?fa?{

Correct Answer :-

« Rig Veda/ B7dg

38) The average weight of 20 students in a class is increased by 0.75 kg
when one student of 35 kg is replaced by a new student. weight of the new

student (in kg) is:/20 faenfiay &1 siaa gui= 0.75 foun 9¢ wirar 8, 19 U faemeif e
oI 35 fopuT & &) v o faemeif gy ufautiua foran sirar 8, -1 faen<f &1 aw= g &9

1. 40 kg/40 fbur
2. 45 kg/45 b
3.50 kg/50 four
4. 35 kg/35 T

Correct Answer :-

« 50 kg/50 oo

39) By selling an article for Rs.105,a trader losses 9%. To gain 30% he

should sell the article at:/U® AR} TH a&] $! 4l 105 & § 99€1 8, a9 I/ 9% &1
B Bl 81 30% &Y FHH F fore 3/ avg &) fohw fpua wR S =nfew?

1. Rs.150
2.Rs.126
3.Rs.144
4. Rs.139
Correct Answer :-
« Rs.150

40) The sum of two numbers is 40 and their difference is 4. The ratio of the
number is: /! TBATHT BT TNT 40 B TUT STTHT 3ieR 4 8,1 STBT SIJUTH JTd D |

1.21:19
2.22:9
3.11: 18

4.11:9
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Correct Answer :-

41) Which of the following tribes believe themselves to be the descendants

of Dravid?/ fRufafad & @ ®19- dt s=enfa Wd &1 gfas 1 33 9t 82
1. Bharia/ yRan

2. Gond/ T

3. Bhil/ Hia

4. Baiga/aTIT

Correct Answer :-

. Baiga/aTIT

42) The Chaunsath Yogini Temple belonged to the - /==& TRH wfeR - <
AT A I 82

1. 11" century/ 11 df et
2. 9th century/ 9 df rdTsd!
3.10th century/ 10 CIRGIEH
4. 8™ century/8 ot TraTsal

Correct Answer :-

« 10 century/ 10 9 IrdTsct

43) If 'pink' means 'yellow’; 'yellow' means 'white'; 'white' means 'blue’;
'blue’' means 'red’; 'red' means 'black’; and 'black’' means 'green’; then what
is the colour of clear sky?/ afe "Taral’ @1 3 "dfiar 8, "dar &1 3rdf wbe, e’ &1
3 e, er &1 o rarer, are &1 ord e 3R 'Hrar ®°1 3 BRI B, A WIw

ST BT T T M2

1. Green/ &<l
2. White/ g
3. Red/ dId

4. Black/ &1l

Correct Answer :-

« Red/dld
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44) If 'LAME' is written as 'ODPH’, how can '"MALE' be written in that code?/
gf¢ 'LAME' 1 'ODPH' a1 9ITaT 8, @1 599 % # '"MALE' &1 f5d UoR fordd?

1. OPDH
2. DOPH
3. HOPD

4. PDOH

Correct Answer :-
« PDOH

45) If '"MACHINE' is coded as '19-7-9-14-15-20-11', how will you code
'DANGER'?/ 4f¢ '"MACHINE' &1 '19-7-9-14-15-20-11" %fed fFarsmars, @
'DANGER’ &T $¢ FIT gI?

1.11-7-20-16-11-24
2.10-7-20-13-11-24
3.13-7-20-9-11-25
4.13-7-20-10-11-25
Correct Answer :-

« 10-7-20-13-11-24

46) A copper wire is bent in the form of a square with an area of 121 cm?2.If

the same wire is bent in the form of a circle, the radius (in cm) of the circle
22

is (Take, 7)1/ Rt e 2w g v e et 121 9687 8192
S TR B g9 ¥ e F der o, A @ A e g e 7

1.8

2.7

3.12

4, 14

Correct Answer :-

47) A train passes two bridges of lengths 800 m and 400 m in 100 seconds
and 60 seconds respectively. The length of the train is:/T® YS! & gat foa®t
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TS AT PH: 800 HITT TUT 400 HeR § B UR B A HHT:100 APUS dUT 60 HUS BT IAY
AR 21 ISt B TS A @2

1. 200 m/200 H.
2. 80 m/80 HI.
3.90 m/90 HI.

4. 150 m/150 Hi.

Correct Answer :-

« 200 m/200 Hi.

48) A mixture of 80 liters of wine and water contains 60 percent wine. How
much water must be added to make it 50 percent wine in the new mixture?/

AT 3R =T a1 80 hie? FAYOT & 60% AT 21 fFa=m ur-t foreman wirg arfes -u faygor &
AT 50% B2

1. 18 liters/18 e
2. 12 liters/12 ey
3. 20 liters/20 qrex

4. 16 liters/16 ey

Correct Answer :-

e 16 liters/16 ey

49) “It was a new Charter of Slavery”, who gave this statement about the
Government of India Act AD 1935?/ "u's'ammmwwshwm", HRd IARPR
JfUfaw 1935 & IR | a5 g9 fhae faar ure

1. Mahatma Gandhi/ HgTT el

2. Jawaharlal Nehru/ STaTgR &l A6

3. Sardar Vallabhbhai Patel/ TRER TeaHHTS Ucd

4. Subhas Chandra Bose/ ¥ I% &I

Correct Answer :-

« Jawaharlal Nehru/ STdTeR AT 8%

50) Where was the State Minor Forest Produce Federation established?/ 39

Y T SUS B8 Pt RITYAT HEl g5 A2
1. Indore/%ﬁ?
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2. Gwalior/ TaTfelR
3. Bhopal/ Hard

4, Jabalpur/ SddyR

Correct Answer :-

« Bhopal/ T

51) DIRECTIONS: In the question below are given few statements followed
by few conclusions. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁﬁ!ﬂ: :ﬂﬁﬁquﬁ'ﬁ$ﬂ={ 3R IHH
q1¢ 9 ey far e § 1 3mus) AT 1T =) &) I U=AT § Ha 8 3 Tdya g | e
Udid gid g1 9+t et @1 ufeu fibr au Fifeme f fau v faseul & ¥ Hi9-a1 fased faw e
FYI BT THUNT TU I ST HIAT 8, T8 TI7d 9 5o W 7|

Statements:/ ®Y-:

All books are pins./ 94} feard, U g1

Some pins are desks./ §>_95ﬁ=l, @,W%'I

Conclusions:/ ﬁWEf:

I. Some desks are books./W@W, ﬁﬁlﬁ%l

I1. All desks are pins./ mﬂ@.w, ﬁF{%'I

III. No desk is book./ aﬁs‘éw, ﬁTcITHT-I’é'T%I

1. Only I follows/ %dd I 3IERUI HRT §

2. Only either I or II follows/ &dd &7 I T 11 WW%
3. Only either I or III follows/ odd a1 I AT 111 WW%

4. Only either II or III folIows/W gr I1 91 I1I &WW%

Correct Answer :-

« Only either I or III follows/ %ad a7 I TT 111 8RN HRlT §

52) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi’lﬂ: ﬁﬁqwmﬁ'wmﬁ 3R IqH
q1¢ 0 fwd far e § 1 smus! AT T Syl &1 I U 8 Ha 8 @ gdya g | e
wofta gia 8 | 9t Frsput @) ufew fib o wifore % faw e et # @ w-ar e few e
FYA! BT THIANd $U A SFEV Rl 8, TTe Gagd a4 o W &
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Statements:/ ®YH:

Some Cows are deer./ $3 TH, AR

Some deer are fish./ $9 f3H, A5l 21

Conclusion:/ ﬁﬁﬂf:

I. Some cows are fish./ $9 T, H@T’ﬁ?l

I1. Some fish are cows./ Wtﬁﬁﬁ, TIT!I%'I

1. If neither conclusion I nor II foIIows/’Cr%:lﬁEb"EfI q1II &WW%
2. If only conclusion I follows/ af¢ wad FAwhY 1 &@'\"UTEF{?IT%

3. If only conclusion II follows/ af¢ drad 1w 11 &F;NTUTW%

4. If either conclusion I or II follows/ Tf¢ TT fASHY I T 11 3IERUI HRlT §

Correct Answer :-

« If neither conclusion I nor II follows/ af¢ = F&HH I 7 11 TR0 B &

53) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%ﬁd: ﬁﬁqwmﬁ'wmﬁ MR TP
91¢ 9 ey far e ¥ 3mus) AT T = @) I =AT € Ha 8 3 gdya 9 | e
Udid gid g1 9} et @1 ufeu fibr au Fifeme f fau e faseul & ¥ Hi9-a1 fased faw e
HYAI BT AHING $U A SRV BT 2, TTe F7Td a2 $2 i 81

Statements: /P Y:

All rats are cars./ 9 g, R

All cars are tiger./?T‘l-ﬁW, ElT'EI%'I
Conclusions:/ ﬁnmf:

I. Some rats are tigers./ $& g, U 2|
I1. All tigers are rats./ H‘l-ﬁEITEr, ij\%%l
III. Some cars are rats./ P9 PR, ﬂ?%l
1. None of these/%ﬂﬁ@[&ﬁ%‘lﬁ

2. Only I and II follow/ %ad I 3R I SFERUIFRA & |
3. Only I follows/ %dd I TR HRT & |

4. Only III follows/ %ad II 3ERUI HAT g |

Correct Answer :-
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« None of these/%ﬂﬁ@[aﬁg:@

54) DIRECTIONS: These questions are based on the basis of following

information. Study it carefully and answer the questions./ A= AU
fFrefafee aFeR R snufyd 81 39 e 9 ufeu oik u=Al & I« difvm|

Eight executives J, K, L, M, N, O, P, & Q are sitting around a circular table for
a meeting. J is second to the right of P who is third to the right of K. M is
second to the left of O who sits between P & J, L is not a neighbour of K or
N./ 316 SSBRL I, K, L, M, N, O, P, 3R Q THh JUTPR A & 34 IS TP o6& &1 & g
REIIPFIWAGRIE, MK FIWATRIZIM,O FAW AT P 3R I F g
¥BTZIL,K aTN FTUSRA g 81

Who is to the immediate left of L?/ L & fAPpcda T S 82
1.K

2. None of these/3 8 I &5 8l

3.Q

4.0

Correct Answer :-

« None of these/ﬁﬁ‘@fﬁ'&cqﬁ

55) From which of the following districts of Madhya Pradesh does the River
Chambal originate?/ 71 Uex & Faferfad foral # A fow o @ avaa 71d &Y s gl
?

1. Indore/éﬁ?

2. Khandwa/ ©sdl
3. Dhar/ 4R

4. Raisen/QTEI@q

Correct Answer :-

. Indore/'ai?ﬁ?

56) The Fair of Math Ghoghara goes on for — / 73 U'eRT &1 AdT fraH fel 9@ =ean

a2

1. 21 days / 21 a1
2. 15 days/ 15 fea
3.10 days/ 10 f&7

4.1 month / 1 HIg
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Correct Answer :-

. 15 days/ 15 faq

GET IT ON
Google Play

57) In which year did Dost Mohammad Khan of Bhopal breathe his last?/

YIUTe & SRd Higwe @ A f5a ad A sifaw g <z

1.1728
2.1727
3.1726

4.1725

Correct Answer :-

« 1728

58) In which of the following months is the Khajuraho Festival of Dances

held?/ fafafaa ad=l & @ $19- J 78 ¥ o6 T S™Id &7 A/ fohar Srar 32

1. March - April/ ATd- 3

2. April-May/ 310a- s

3. January - February/ SFdRl- Ta’l
4. February - March/ HRasl- A

Correct Answer :-

« February - March/ TRAR]- A

59) In which state is the Sharavati Power Project situated?/ YRTa gTaR

ufaerT e Ie & fRya 32
1. Maharashtra/ HgRTY

2. Karnataka/ e

3. Kerala/ A

4. Tamil Nadu/ alﬁa:ng
Correct Answer :-

. Karnataka/ ®-iicdh

60) Thakur Dowlat Singh, who fought against the British in the Revolt of AD
1857 belonged to the district of - /313 glad Rig, it fafexr & favs 1857 ¥ fasis
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Hae 4, P-4 fora @ gwifta 92
1. Dewas/ Gard

2. Umaria/ 3RAT

3. Seoni/ faH

4. Sheopur/ ECﬁTZR
Correct Answer :-

« Dewas/ <arg

61) The ratio of A to B is 4:5 and that of B to C is 2: 3. If A equals 800, then C
equals:/ A 3 B T 3UTd 4:5 3 4T B 3R C HT 3T 2:3 81 afe A FTUF 800 3, d C FT
T 1d B

1. 1200
2. 1500
3. 2000

4. 1000

Correct Answer :-

« 1500

62) The ratio of the cost price and selling price of an article is 20: 21. What is
the gain percent?/U® %] & AN Yo qUT faha G o7 U 20: 21 §, A a1Y
gfcr=ra Jrd B

1. 5.5%

2. 6%

3.5%

4.6.25%
Correct Answer :-
« 5%

63) Bharam, Setam and Saila are the major dances of the - / HH, Ryaw ek
T fora ST & W T 82

1. Bhil tribe/ Hid SHeid
2. Bharia tribe/ HINAT ST
3. Baiga tribe/ ST STl
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4. Gond tribe/ g ST

Correct Answer :-

« Bharia tribe/ HIRAT S=SITTd

GET IT ON
Google Play

64) At what percent per annum will Rs.3000 amounts to Rs.3993 in 3 years
,if the interest is compounded annually?/mmﬁﬂ?mﬂﬁa’ﬁwoo '\Flﬁ, 3qY A

3993 &9 gl AT, afe Iepgfex saTe arfie ¢ g2

1. 9%
2. 10%
3.11%

4.13%

Correct Answer :-

e 10%

65) 1 =-[1+1={1+1+(1+1=+2)}]=?

1.3

2.

Bal = N

ool e

4.

Correct Answer :-

66) Bal Krishna Sharma ‘Naveen’ was a freedom-fighter from — / ST $0T J{

T T & Tadsar A A2
1. Shajapur/ RIMSITYR

2. Jhabua/ STg3M

3. Maihar/ ﬁ'&?

4. Ujjain/ IH

Correct Answer :-

« Shajapur/ RIMSITYR


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

67) Point A is 40 m to the North of point B. Point C is 20 m to the West of point A. Point D is 30 m to
the South of point C. Point E is exactly midway between points D and F in such a manner that point
D, E and F form a horizontal straight line of 40 m. Point F is to the East of point D. Point G is 30 m to
the North of point F. How far and in which direction is point G from point A?/ ﬁg A, B & IR | 40
Hex Bt g R 81 g ¢, fg A & ufdm ¥ 20 dex 31 g w71 fig o, fg ¢ & gfemor & 30 3t
IR BIfEgE, figsni p o F & T & g9 UeR § 1% fdg b, E 3R F 40 Wiex 9t o &fawr @
T €1 fig F, fag p F qd # 81 g G, fig F & 30 e IR 91 3R 31 g G, fig A A fpaeit
TR IR fpafemdz

1. 30 m towards West/ Gf$H &1 3R 30 Hlex
2. 40 m towards North/ 3aR &1 3R 40 Hiex
3. 20 m towards East /q\a‘ﬁ\?h? 20 Hic

4. 20 m towards West/tlﬁmaﬁsm 20 Hie®

Correct Answer :-

« 20 m towards East / Jd @1 3R 20 Hex

68) If day before yesterday was Wednesday, when will Sunday be?/ af¢ did gt
& & g &1 fe guar u1 <t IfdaR wa ghm?

1. 3 days after today/3(ol ¥ 3 fa9 91g
2. Day after tomorrow/ 3 aid &d & dlG &l fa
3. Tomorrow/od

4. Today/3S

Correct Answer :-
« Day after tomorrow/3H aId &d & d1G &1 fa

69) Three of the following four are alike in certain way and so form a group.
Which is the one that does not belong to that group?/ fu Tt IR faweui 4 A &=
it U THTH § iR U 9 §91d & 1§ A o1 191 39 9E 9 A8 82

1. 836654
2. 836475
3.836432
4. 836986

Correct Answer :-

« 836475
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GET IT ON
Google Play

70) On heating a circular metallic disc with a circular hole at the centre, the
diameter of the hole will?/ T& Tid YIf@® THdl Bl Hg A IURIT D¢ & TR fHa1 Srar
§, 99 9 BT AN?

1. Decrease/ ®HBRT
2. First increase, then decrease/ Ugd a%‘ T fopR & H BT

3. Increase/ aé_ll

4. Remain the same/ ?I'HFR%‘II

Correct Answer :-

e Increase/ aa}ll

71) Two positions of a dice are given. Which humber would be at the top

when bottom is 2?/ TP U &1 & RUfaaT & it &1 $1- i J= I i R gt o9

= 2 gnm?
R
1.4
2.5
3.1
4.6

Correct Answer :-

« 6

72) A drug that prevents infection and decay is called a/an?/@ﬁﬁﬁrﬁrﬁﬁ

THHUT B) W Il &, 3R THD! Tt § I FT HgT oIell &-

1. Germicide/ 3G
2. Antimalarial drug/ SfaAaRar iufy

3. Antiseptic/ I QQIW
4. Analgesic/ YSTERY 3Nufey

Correct Answer :-

« Antiseptic/ 3 Qil%
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The acid that can be used as a hypnotic is?/ ﬁaﬁﬁﬁwmﬁamaﬁm
IUgRT forar oirar 8

1. Tartaric acid/ TR 3

2. Barbituric acid/ WW
3. Butanoic acid/ @J@WG{E

4. Benzoic acid/ dullg® 3

Correct Answer :-

« Barbituric acid/ STfdegii® 3

74) Sheela is Ravi’s sister-in-law. Ram is Ravi’s brother. Ram’s wife is
Sheela. Deepa is Ravi’s sister. Deepa’s mother is Shanti. How is Sheela

related to Shanti?/ 2ftar Ifa &t urhtareht 81 3w, 3@ &1 4 81 39 &) ueht <R g1 S,
I3 Y 78 21 Y1 Y A7 wifar 21 e, wifa & e yeR defia g2

1. Daughter/Eﬁ)r
2. Daughter-in-law/dg
3. Mother-in-law/3dMg

4. Grand-daughter/dic

Correct Answer :-

« Daughter-in-law/dg

75) The tissue that plays a leading role in the elongation of many bones is?/

e 4 A B R & @ 89 & Heaygul YT Frurar g:

1. Fibroelastic tissue/ TARIdJ 3D

2. Areolar tissue/ aTAIT 3D
3. Spongy bone/ Iisit 3Ry
4. Cartilage/ IUTRY

Correct Answer :-

. Cartilage/ IUTRY
76) The boiling point of water?/ d T HYHI fo~g g1 &
1. Is always 100°C/ ¥&d 100 °C

2. Depends on the atmospheric pressure/ a@sﬁamwﬁﬁw%‘
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3. Depends on the material of the container/ WWW&WW%QWW?I@W%

4. Depends on relative humidity/ TT0&f Tsdl R AR

Correct Answer :-

« Depends on the atmospheric pressure/ a@sﬁnmwﬁlﬁm%

77) Hydroponics is the?/ gEgufed 82

1. None of these/ 374 ¥ &g -Tg!

2. Water portion of the biosphere/ SId AUSH H IUfRId ST HRT
3. Water content of organisms/ Shal H SurRyd 51

4. Loss of water by plants/ UTGU gRT Sid &1 gI

Correct Answer :-

« None of these/%ﬂﬁ@faﬁgﬁ

78) The Central Drug Research Institute (CDRI) in India is located in?/ P
SN YT TR YR § Pl (RIq &

1. Delhi/ faeeit

2. Lucknow/ @913

3. Allahabad/ SATGIETG
4, Bangaluru/ W

Correct Answer :-
¢ Lucknow/ dW13

79) In the process of respiration, the component of air used is?/ 4= & Ufspar
T 91 BT P AT UeH START | AT SITdT 32

1. Inert gases/ 3ifha T

2. Carbon dioxide/ ®Te S8 RS
3. Oxygen/ NIENIvE]

4. Nitrogen/ ﬂ]%?j\‘rl’rr

Correct Answer :-

« Oxygen/ 3iRiTSH
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80) Planets are?/Ug gid &:

1. Luminous bodies that twinkle/ TH®eR fis qur ferfenrd +i €

2. Luminous bodies that do not twinkle/ TH®eR i o feafenrd 781 €

3. Non luminous bodies that twinkle/ 3EH@eR fis ot ferfenrd §

4. Non luminous bodies that do not twinkle/ AP ER e ot ferafenma lﬁﬂ'ﬁﬁ%

Correct Answer :-

« Non luminous bodies that do not twinkle/ G ER fUe o fenfenma lﬁﬂ'ﬁﬁ%

81) DIRECTIONS: From the given alternative words, select the word which
cannot be formed using the letters of the given word./ fAdar: Aufefad fawea &
¥ 98 U gia o1 AT 7T 31eg & 31eRY &1 YT Hdb 81 1T I Pl &-

COURAGEOUS
1. SECURE

2. COURSE

3. ARGUE

4. GRACE

Correct Answer :-

« SECURE

82) DIRECTIONS: Arrange the following in a logical order:/fex1: - H v
3rfquf pu ¥ sqafRE $31

(i) Vegetable/ gl

(ii) Market/ dI6IR

(i) Cutting/ ®eTs

(iv) Cooking/ @THT I4THT
(v) Eat/ @11

1. (i), (i), (iii), (iv), (v)

2. (iii), (i), (i), (v), (iv)

3. (ii), (i), (iii), (iv), (v)

4. (v), (i), (i), (iii), (iv)
Correct Answer :-

° (“)I (I)I (”I)I (iv)l (V)
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83) The fundamental role of root hairs in plants is?/ & 3| T &I $1 UTgU &

HTEATE
1. To protect the root from soil microbes/ @ﬁ%ﬁﬁﬁﬁﬁﬁﬁﬁ%%@

2. To protect the young root from damage by coarse soil particles/ &8 Gal ®Ull 4 94t
SIS &l TRIE g4 I 991 & fau

3. To absorb water and mineral salts from the soil/ SIS ¥ Sd @ @i+l 901 B @RI
& o ferg

4. To bind soil particles to the root for firm fixation of the plant/ G@ﬁ%%ﬁﬂﬁﬂﬁ
TG U1y Pl Teh R TR W8T 38 & oy

Correct Answer :-

« To absorb water and mineral salts from the soil/ STS! ¥ Sd g Wi-Isl 90T BT AN
CRECARIY

84) The term taxonomy was given by?/ f&d® gRI e “eaqHIH" &1 ufaure faar
qr?

1. Rendle/ 38d

2. Theophrastus/ Tﬁ?ﬂfb@ﬂ

3. Bentham and Hooker/ s4#d GﬁTW
4. A P de Candolle/ TU Sl dhalal

Correct Answer :-

« A P de Candolle/ TTI St el

85) The speed of sound will be higest in?/ t@af~ ®I nfa Taife o gl &:
1. Dry air at 30°C/ 30°C R Y ga1 d

2. Dry air at 0°C/0°C IR I gar o

3. Humid air at 0°C/ 0°C W 3fTg gaT H

4. Humid air at 30°C/30°C W 3§ gaT H

Correct Answer :-

« Humid air at 30°C/30°C W 3§ gaT &

86) In human systems, vitamins cannot?/ HFd o3 # faeif¥= &1 781 #vd?

1. Help in growth/ q@ﬁw
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2. Help in metabolizing drugs/ SUTd=d 3iufY & Gge & Hifd
3. Help in digestion/ UTeH & TgRI®
4. Supply energy/ el Ualdl & ¥0

Correct Answer :-

- Supply energy/ 34l Yaldl & &4 H

GET IT ON
Google Play

87) The process of elimination of water from any system is called?/ f&< oft

T | I BT BT ST 1 HeaTdl o
1. Evaporation/ CILYERU

2. Oxidation/ 3{TeRIIHRUI

3. Reduction/ 3Udg-

4. Dehydration/ [ERRIEERUI

Correct Answer :-

« Dehydration/ fAsfceiieor

88) The process of fission occurs mainly in?/ fad@s= &1 forar IrT=aa: fFaw gt

&

1. Nuclear reactors/ &I T4

2. Chemical reactions/ aH® i
3. The hydrogen bomb/ BRI st

4, The sun/ ﬁqc

Correct Answer :-

« Nuclear reactors/ ATH® T T

89) The disease that is caused by viral infection is?/ 9 & 3 ®1=21 7 fawry]

wifa grar 82

1. Cholera/ gofl

2. Typhoid/ 'c’l'{cﬁ'si%'
3. Tetanus/ feeg

4. Common cold/ ITYRU 9hTH

Correct Answer :-
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« Common cold/ |IYUYRUI 9hTH

90) Which of the following plant spices is obtained from flower buds?/ fFg #
Y P T AT & & YO Hier J yred fobam Svan 82

1. Clove/ @i
2. Cumin/ SIRT
3. Coriander/ gf=ar

4. Nutmeg/ SO

Correct Answer :-

« Clove/ @i

91) Turpentine is obtained from?/ eXUcTsd P dd fHIH T forar wran &
1. Oak/ 3l

2. Pine/ Ul

3. Deodar/ TdeR

4. Crude petroleum/ &1 dd

Correct Answer :-

« Pine/ Ulgd

92) One way of checking the expansion of the Thar Desert would be?/ UYRF
TR F TRIR DI AP+ BT a3 IbT 1 81 Ihdl 82

1. By digging canals/ Te% Wial
2. Through artificial rains/ Wa&fm
3. Through afforestation/ J&RIYUl

4. By constructing water reservoirs/ Sid H8RUI &1

Correct Answer :-

« Through afforestation/ g&RIuul

93) A true fruit develops from the?/ U% 9 Bd $1 AU AT ? :
1. Carpel/ T 9

2. Ovule/ Siolig I
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3. Anther/ R Y

4. Ovary/ 3SREY

Correct Answer :-

« Ovary/ 3SR Y

94) A person with which one of the following blood group is considered a

universal donor?/ A9 ¥ & $A Yo GYg & afed &1 Jdgrar Gl & IWT STe:
1.0

2.A

3.AB

4.B

Correct Answer :-

« O

95) A transformer is a device for?/ SIITBIRAR TH T g I

1. Converting AC into DC / AC YRT &I DC & uRafdd &dr &

2. Generating electricity/ faeId 3U= Hxdl &

3. Stepping up or down ac voltage/ AC aﬁ@aaﬁwwmmm%

4. Stepping down or up dc voltage/ DC aﬁéﬁﬁwmmmw%

Correct Answer :-
« Stepping up or down ac voltage/ AC aﬁéﬁrﬁwmmmﬂaﬁﬁ%’

96) How many triangles are there in the given figure?/ & 75 3&fd ¥ fva= Ay

&2

A
(N T NS N

1.9

2. 11
3.7

4.8

Correct Answer :-
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97) Inspector Sooraj travelled from his police station for 400 m. He then
turned left and travelled 500 m straight after which he turned left again and
travelled for 400 m straight. He then turned right and walked for another
600 m straight. How far is he from the Police station?/ E@WW arlﬁgi%r\tr
T A 400 W T T H3d €1 98, I81 A 9T YSHY 500 W B A1 3R H3d &1 TP a1
e 95 9T gd § 3R 400 T &} a1 #ed &1 98 f gt gad & iR 3rTd 600 Wt gerd 198
g uke 3 frait g wR 82

1. 1.1 km/1.1 Topet
2. 1.8 km/1.8 e
3. 1.4 km/1.4 fHT

4. 1.0 km/1.0 foo et

Correct Answer :-

e 1.1km/1.1 TopeT

98) Television signals cannot be received ordinarily beyond a particular

distance due to?/ Wﬁ%ﬁﬁﬁ%ﬁﬂﬁww@qﬁ, forera wife?
1. Weak antenna/ WW%W

2. Weakness of the signals/ RITd HHOIR 81 91d &

3. Absorption of signals in the air/ RiUd gd1 gRI 3TN HR foran Srar 8

4. Curvature of the earth/ Gdl & YHIIGR g1 HRU]

Correct Answer :-

« Curvature of the earth/ &l & HAER g1 HRUI

99) A steel ball floats on mercury because?/ Wmﬁﬂi{qﬁﬁa?‘cﬁﬁ?ﬁ%
Fiife:

1. Mercury does not allow any metal ball to sink it/ w%%ﬁmaﬁﬁaaﬁ;ﬁaﬁﬂﬁ%m
2. Mercury is also a metal in the liquid form/ URT WY U&h ‘éﬂﬂ%\_yﬁaﬁ TR H &8

3. The density of mercury is higher than that of steel/ OR &1 9 38T § 3P Bl &

4. A steel ball can be made to float on any liquid by suitable adjustment/ W B Ilg
forelt off oa & R & o simawaes fRufd a1 dar &

Correct Answer :-

« The density of mercury is higher than that of steel/ UR &1 9-9cd 39Td 9 Wﬁ?ﬁ%
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100) The compound that does not from a clear solution with water is?/ g #

A BT uerd e & |1y faea= g} a1 8:
1. Baking powder/ @ﬁﬁ@ﬁ

2. Sand/ 91
3. Sugar/ TR
4. Caustic soda/ HIcd TrsT

Correct Answer :-
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